Multiplication par 5 (C)

Calculez chaque produit.

2X b= 7TX 5= bx 1l =
bXT= bx 3= 9x b=
7TX 5= b x 1l = bx9=
5 x 10 = b X 3= bx4d=
7TXH= 2X 5= 12x5=
DX 4= 12 x5 = bx 1=
HbX 3= 9 xbhH= 5% 6=
b x 12 = 3 X D= b x 11 =
3 X b= 3 X b= 5X9=
8 X H= HbX 3= 7TX 5=
b X6 = bx 1= DX b=
4xb= b X 0= 11 x5 =
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Multiplication par 5 Solutions (C)

2x5=10
b xT7=235
7XxXbH=23>
5 x 10 =50
7TXxXbH=23>
b x4 =20
bx3=15
Hx 12 =00
3xXo=15
8 x 5 =140
5 x 6 =30
4 x5=20

Calculez chaque produit.

7xb=235
bx3=15
Hbx 11 =55
bx3=15
2x5=10
12 x 5 =60
9x5H=45
3x5H=15
3x5H=15
bx3=15
bx1=5
5x0=0

bx 11 =155
9x5=45
DX 9=45
bx4=20
12 x 5 =60
bx1=5H
Hx 6 =30
bx 11 =55
bx9=45
7x5H=235
HhXxX5H=25
11 x5 =055
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